Year 5 Homework, Summer Term Week 8 3
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Maths: Speedy Six
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8.65 x 100 =

. 996.5 +124.6 =

What is 1972 ml in litres? (Remember there
are 1000ml in a litre)

What is 9 squared plus 4 squared?
1232 x 63 =
What is the decimal equivalent to 25%?
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28.3211 x 1000 =

7834.11 + 3213.98 =

What is 723ml in litres?

What 8321g in kg?

What is 75% of 510?

What is the fraction equivalent to 0.25?
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Comprehension
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Complete the reading comprehension.

Optional Maths Extension:

SQel “ngs One bonus house point available
Core —QLSU 9[”( A box contains 2.6 kg of washing powder.
shyness vibration
slyly inflation
: : : washing
varied dictation e
variable nation
replicate action 2.6kg
physical relation
individual other Jack uses 65 grams of powder for each wash.
there’s mother He uses all the powder.
replica door :
. . . How many washes did Jack do?
flies imagine

Homework is due in on 27t June
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